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Maths Lesson 1: Answers Bl Task

Subtract fractions iy 0 Complete the subtractions.
: Simplify your answers where passible.
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9 Complete the part-whole models.
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d) T . '
o Jack has -g- of a chocolate bar.
He eats % of the chocolate bar. b)
What fraction of the chocolate bar does he have left? e
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Jack has of the chocolate bar left.
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o Write the missing numerators.

8 o £ S AT 0
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o Kim has read % of her book.

o

2 o Complete the table to show
Tom has read = of his book. ;
7 three possible values of the _—

X 92 92
0) Shode the bar modeis to represent this information. él square and triangle.
N ) vq

\

“
.
)
\
)
.
\

r ~ - . o . =y
Ui A 7 /7 o /v A

Kim (P52 | FL79 |77 0 \ P22 o7z | 77 7
l}',, 7 A @i ;4: 7y .(.' Zd\ ;,//.'

(|4 |

Tom

vin '4» /) 20 7

30 13

b) How much more has Kim read than Tom?

& How many other answers can you find?
Kim has read | 5 [ more of her book than Tom.
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Red Task

Varied Fluency

Subtract Fractions

Developing

1n:|.i

g
2a. 4

3q. 3 _ 1 _ 2

4 4 4
d4a. Accept any images splitinto 5 equal

parts where 3 parts are shaded, with 2 of
the 3 parts crossed out.

Sa. Falze - the answer i;% .

Reasoning and Problem Solving
Subftract Fractions

Developing

1u.i
&

2a. No, Charlie has % which is less than
5

7

3a. 5
ki
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Varied Fluency
Subftract Fractions

Greater Depth

1a.2
12a. 2

7 1 _ 2
130. 2 -1 =2
7 "2 T

14a. Accept any images split inte 5 equal
parts where 2 parts are shaded, with | of
thoze parts crossed out.

15a. True

Reasoning and Problem Solving
Subfract 2 Fractions

Greater Depth

7a. L
10 s
8a. Georgie is correct qsﬁ iz more than
a3

rF

10 -




Deepen the Moment

Subtract Fractions

1. Complete the subtraction equation using the digit cards below. Try and use each
digit card a maximum of twice. Make as many possible variations as you can find.
Various possible answers including:

6 1 2

2 Below are two frocion models which repr t a subfrocfion equafion. Complete
the equation below and then draw your own fraction models of any shape fo
represent your own subiracfion equafions. Use as many fracfion modeis in your
equation as you fike.

7 7 7

Accept other sublroction calculafions ike the one above, which comectly
demonstrate o froction sublraction. Also occept froctions which hove been simpiified.
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Maths Lesson 2: Answers

Subtract 2 fractions

o Complete the subtractions.
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° Complete the calculations.

7
36 0"

- S ¢
b) 3-3
6_6
9% %
31
d)4 4

23-4
23-4

Y
[]

wf =

e

Complete the subtractions

)l

uin
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03-4-[3

o %-&-[%
23-2-[5]-[13
0 4-3-[3]-[24
@12-3-[3]-[35
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° Jack has 2% kg of potatoes. o Fill in the missing numerators.

5
He uses = kg of potatoes. 3 K
a a) 10 _ il d) 13 _ =2
How many kilograms does he have left? 11 11 11 4 4
# Y
pylo_L—J_7_ 4 o2 L. +1
Jack has | | [kg left. 11 11 11 1 4 4 4

o Complete the part-whole models.

a) b)
o Alex and Annie are taking turns playing a computer game.
Annie plays for a total of 2% hours.

Annie plays for % of an hour more than Alex.
How much time do they spend in total playing on the game?

o Complete the part-whole model in two different wauys.

L.
3% |hours
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Red Task

Varied Fluency Varied Fluency
Subtract 2 Fractions subtract 2 Fractions

Developing

zreater Depth

la. 17 34
9o, - =3
o R TR TV
Z2a. C 10a. A
a8 5
- = 54 &
3 5 24 2
= .p =2 12a. A, —: B. —
40.A.— B R TR T
Reasoning and Pml:-le_m Solvin Reasoning and Problem Solving
Subtract 2 Fractions subtract 2 Fractions
D_M-EVE'I-D In Greater Depth
l1a. James is incomect because 7a. Evie is incomect because
4 3 1 14 4 10
5 6 6 107 10~ 10
2q. & y 1 or 5 3 y, (also accept simplified answers).
7 7 = 7 7 7 = 7 8a. Variouws answers, for example:
4 8 4
3a. Yes, both calculafions Equuli. 4 B B
¥ fa. Yes, both equal A or 2
20 10
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Deepen the Moment

Subfract 2 Fractions

1. What could the value of each shape be?

®AA

Various answers, for example:

24

> @

2. Play the game with a partner following the rules below.
r Dicev Fractions "

Aim

To be the first player to reach a number less than one by subfracting fractions
created by rolling the dice.

Rules
1. Each player starts with —:—;—

2. Player One rolls two dice. They select which of the dice they want fo be the
numerator and the denominator. If 1 is rolled, the dice must be re-rolled.

3. The player subiracts the fraction from their remaining total. The fraction being
subfracted may be converted fo an equivalent fraction.

4. Play then passes to Player Two who repeats rules 2-4,

5. The winner Is the first person fo reach a fraction less than one.

v

48 é 4 2 1
Various possible outcomes, for example: — - — . —— | — =z —

12 3 “ 4 2
Discuss how your strategy will change if you use dice with different a different number
of sides. A dice with more sides would allow for a larger numerator with a smaller
denominator so that the game could be won faster.
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Maths Lesson 3: Answers

Subtract from whole amounts

Year 4 Answer Pack
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° Complete the subtractions.

8_5_|3 _5.] 12
Vs 8|8 az-2=| |5
wi-Sa|3 9a-5=|32

8 5 7 >
zZaltd -1 3
92-2=I|% na=e='23

o Match the numbers with a difference of%
3

3 2;

U - T

2 - 2
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o Aisha has 4 pies. o Complete the calculations.
2 3 y ST -
a) Aisha gives 3 of a pie to Mo.
8 = 3 5 7
How many pies does Aisha have left? b)4—-| 35 |= 3'8‘ d) L 12 - 136

Aisha has 3 whole pies and of a pie left.

oflw

o Teddy has 4 litres of juice and 3 jugs.
b) Aisha then gives 2 pies to Jack.

Calculate the difference between how much pie Aisha now

has and how much pie Mo has.

- Teddy pours % of a litre into each jug.
&
: How much juice does Teddy have left?
of oL P&

° Alex is subtracting fractions.

Teddy has l 2 |litres of juice left.

Explain why Alex is incorrect. @
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Varied Fluency

Subtract from Whole Amounts

Developing

i
1U.T

Reasoning and Problem Solving
Subtract from Whole Amounts

Developing

1a. Variovs answers, for example:

2a. B is the odd one out becavse it has an
answer nf%ins‘reud nf%.

3a. Yes, Naila could be right because the

'n PONTEFRACT

Varied Fluency
Subtract from Whole Amounts

Greater Depth

13 _ 3
4. L = 2 L
1ﬂu.% 1 __7
114a. -—=

S =% T %
12a. B and C

Reasoning and Problem Solving
Subtract from Whole Amounts

Greater Depth

7a. Variou: answers, for example:
2 _ 11
3 -3 T2
8a. C is the odd one out because it has an

answer of iins’nsw:n:l of %.

4
8 _ 2 .o
?a. No, because 1 - 10 = 70 which is

not an improper fraction.

answer is%which is the same as 1 whole,

Deepen the Moment

Subtract from Whole Amounts

1. Fay and Jareth complete a calculation which gives them the answer in the box.

2. Charlie, Anwen and Sadia started with three cups of squash each. At the end of
lunchtime, they each give a clue as to what fraction of their cups of squash was left.

We starfed with a whole number. 17 @{ The fraction of squash that | have left is between % and —:— ]
We subfracted an improper - — = — Charlie
fraction which was greater than 2 4
wholes and less than 9 wholes. *
>
Vel { My numerator is double Charlie's and | didn't drink all of my squash. ]
Amn
Use the clues fo work out what their calculation could be. Find three possibilities.
Various answers, for example: 7 - -‘3‘- = -‘}'
{ The fraction of squash that | have left is between Charlie and Anwen's. ]
If Fay and Jareth add an additional clue, what could their calculation be? Sadia

What fraction of cups of squash could each child have drunk?

Various answers, for example: If Charlie drank 2 -:— cups then he has % remaining.

[ The whole number in our calculation is a multiple of 4. ]
Anwen's fraction must be —:— 50 she drank | —f— cups , and Sadia could have ‘i— left if

15 17
Various answers, for example: 8 - w thacts she drank ] —2— cups.

Year 4 Answer Pack



Maths Lesson 4: Answers

PONTEFRA

ACADEMIES TR

CT_

Fractions of a set of objects (1) To fond a half 1 need
o a ne

to divide by 2

Do you agree with Dexter? _ “eD
Talk about it with a partner. @

° Complete the table.

o Here are some counters.

Fraction Division Example Drawing
a) Circle % of the counters.

one half | divideby2 | Jof6=3 :::
b) How many counters did you circle? _3

©) What is 3 of 122| %

5.}
one quarter dlmdltﬁ L %of8=2 g’g gg
° Draw counters in the bar models to help you complete each by /A
number sentence. The first one has been done for you. \/
o) lofs=|4a IEXXYrYxxxxia one Wik | diida by 3 Leigas :::::
' o000 O®
Biof1e=| 3| (9995 %6 ©6 [0 o Co )
agiote={2| o000 [0O [00O]

one pign du\m\;th * o415 =3

d tof16=| L 120 %] Co %l @0 % C o)

© Whate Rowe Maths 201%
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o Huan uses a bar model and base 10 to find %of 36 ° Complete the number sentences.

=30 o —of| 25D|=50

L

®
9

@ @

a) %of 6(

U1 |-

b)%of e |=20

o Rosie, Amir and Alex each find a fraction of 24 using counters. g

/‘_l\ l
R e e e e e o
osi . Amir
_Bose ) I have 6 counters. = Auddad =

Use Huan's method to complete the calculations.

o)-;-of63= 21 o lofoz=|23

1 ofag =
b)4o48 12

: (_Alex
o Nijah uses a bar model and place value counters to find % of 36 ‘
\_) a) Order the children from least counters to most counters.
F‘Iof;’ Ao 2} n--&
Use Nijah's method to complete the calculations. C least counters ) C most counters )
1 i 1 =1 ¢
a) 3 of 96 =| 32 9 a of 52=1.3 b) What fraction of the counters does Alex have? }:
b) _;_ of6o=[ 12 ¢) Rosie and Amir put their counters together.
Write their total number of counters as a fraction of 24
° Which amount is greater? Tick your answer, ‘)
’ 1 192
3 of £7 or 5 of £75 2
v ay
Show your workings.

Year 4 Answer Pack



'n PONTEFRACT

Red Task

Varied Fluency V.Ol’ied Fluenc .
Fractions of a Quantity Fractions of a Quantity
Greater Depth
Developing 9a. 10
la. 5 10a. 660
2a.7 11a. If 5-0f 40 = 10, then —-of 80 = 0.
3a. 12

12a. A. 18; B. 30: C. 180; D. 20
40.A. 8, B. 6:C.5:D. 8
Reasoning and Problem Solving

Reasoning and Problem Solving Fractions of a Quantity
Fractions of a Quantity

Greater Depth
7a. 5§ eggs, 200g flour, 150g butter, 100g

Developing .

sugar, 50g blueberries.
1a. 2 eggs, £0g of oats, 30ml of milk, 1 8a. Todd needs 35 pears in total hecuuse%
banana. of 14 is 4. That's encugh pears for 1 pie but
2a. Tem needs 4 potatoes because because Todd is making & pies, he needs
16+4=4and4x1=4. to multiple & by & to get 34 pears in total.
3a. Chuan is correct. Alice has taken one 7a. Cian is correct because 74 is three
fifth away from 35. times larger than 32 and the fraction is

three times: smaller so it will produce the

same answer,

Deepen the Moment

Fractions of a Quantity

Use the digit cards to complete the comparison statements. Each digit card can only
be used once but two digit cards can be placed In one emply box. 5

4 =
—of 18 > —of| 8 —of| 32 |= = of 48

7~ N\
gcf 18 >iof|:] 6 4 o)l T
Y

L

( — )

6
— i = — of 48

[] ;

NEEEEEEEEE || T |

Is there more than one way fo solve the problem?
There are varlous ways to solve this problem, Accept any answer that comrectly
compleles each statement. Two examples are given below

Year 4 Answer Pack
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Math Lesson 5: Answers

question answer marks question answer marks
1 487 1 22 0.51 1
2 53 ] 23 16 |
3 839 1 24 227 1
4 88 | Total 24
5 368 ]
6 25 |
7 %g or -2- 1
8 +od 1
9 9210 1
10 8217 1
n 8022 1
12 7883 1
13 1no 1
14 34 |
15 3168 |
16 2874 1
17 4+ 1
18 o 1
19 79 1
20 8.6 1
21 24 |

Year 4 Answer Pack
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English Lesson 1: Reading — Finishing Off Answers

Year & Answers.
Finishing Off...
Key vocahulary: kiln, plaster cast, unwhiskered,

Retrievul

1.) What is. the name df the hoy in the poem? Malcalm.
2.) What was unfinished in- his. hook? Stories and. pictures
3.) What wus in his drawer? a half-eaten cake

4.) What did Malcolm gaze at? the floorhourds

Inference

5.) Do you think Malcolm is a. chatty, pupil? No hecause he said very, little and. his
sentence remained. i

6.) Why, do yow think Malcolm has lots gf incomplete work? Various answers. — he
wunder etc.

7.) Look at verse 2. What time gf year do youw think this poem is written? Why?
Prohably, in the summer term as it suggests. Easter is a while ago, but he wouldn't
hove started, the next year.

8.) Which line tells us the teacher is frustrated with Malcolm? I really can't take
Qnymore.

Vocahulary

9.) Find and copy one word that means moved. your feet in. small steps without
lifting them. off the floor? shuffled

10.) Write a synonym, for the word, started. Began, commenced,

Swmmarise
11.) Describe Malcolm in yowr own words. Various answers.
12.) What type af. person is the opposite af Malcom? Various answers. — arganised,

Year 4 Answer Pack
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Lesson 1: Red Answers
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Key vocabulary: kiln, plaster cast, unwhiskered.

Retrieval

1.) What is the name of the boy in the poem? Malcolm
2.) What wus unfinished in his hook? Stories and pictures
3.) What wus in his drawer? A half-eaten cake

4.) What did Malcolm gaze at? The floorhourds

Inference

5.) Do you think Malcolm is a chatty pupil? No hecause he said very little and his
6.) Which line tells us the teacher is frustrated with Malcolm? I really can't take
anymore.

Year 4 Answer Pack



English Lesson 2: Pronouns

Task 1: Table should be filled in as follows:

Personal Possessive Relative Reflexive Demonstrative
Pronouns Pronoun Pronouns Pronouns Pronouns

I mine who muyself this

you yours whom yourself these

he his whose himself those

she hers which herself

it its that ourselves

we ours themselves.

they yours

me theirs

him

her

us

them

Task 2: See below which words should be underlined as nouns and circled as
pronouns for each sentence:

1. Some people don't like mince pies becausehave dried fruit in.
2. On Thursdays, we have PE so(it)is my favourite day.

o & W

“Rachel can do it' said mum.
The talent show judge was smiling becausereallg enjoyed the act.
The lady pointed at the juicy apples on the market

stall and said, “I'll take four of'

6. The dragon flew through the air with@calg skin and long, dark wings.
7. @ate the bear's porridge and broke their chair; it was Goldilocks.

Year 4 Answer Pack
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Task 3: See below the correct equivalent pronoun:

The lion shook the lion’s mane as the lion walked along the rock.
The lion shook his/her/its mane as he/she/it walked along the rock.

Jessica was running late for school so Jessica went on Jessica's bike to get there
on time.

Jessica was running late for school so she went
on her bike to get there on time.

“This was John's house before John moved. However, John has left some of his

things here, which John will pick up. That's John's chair and those are John's
CDs,” said the estate agent.

“This was John's house before he moved. However, he has
left some of his things here, which he will pick up. That’s his
chair and those are his CDs,” said the estate agent.

Deepening the Moment: Accept an adequate argument going against the
statement with the use of an example as evidence.

Year 4 Answer Pack
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English Lesson 5: Edit
Task 1

'n PONTEFRACT o

Look at the sentences helow and rewrite the sentences so that they are written

Jormally.

The Kids in Class 4 were mega happy about their trip.

I can't work out what his joh is.

Task 2

Year 4 Answer Pack
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Mrs S. Webb
2 Frustum Road
Pendyyille
SP1 4LF
62 Twaddle Street
Rambleswisck
PT5 7AP
Dear Amy,

Thank you for your email regarding my purchase of a plot of
land. I have to say, however, that I am deeply disappointed
with the lack of access to this land. I applied for this land
because I would have liked to own a little piece of the Scottish
Highlands. Sadly this land was at the very top of a highly
inaccessible mountain and I feel I have wasted a precious
£300. I am angry and want my money back!

Your comments would be appreciated.
Regards

§aruh'Webbﬁ

o The date

¢ The name of the recipient
¢ A formal greeting

e Appropriate tone

¢ A formal close

Year 4 Answer Pack
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Reading for Productivity Answers

Lesson 1: Music
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1.

Answers

Retrieval

What i&tthulsg?

Pulse is a steady beat like a ticking clock or yowr heartheat.
. What kinds of beats are there?

Fast and slow.

What is the difference between rhythm and pulse?
Rhythm is a pattern of long and short sounds. With a pulse, the beats are evenly

spaced.

. What does this sign mean? Z

This: means. there are 4 heats to a har.

. What does BPM stand for?

Beats per Minute

. What sumile is. used. to descrihe the heat?

Like a ticking clock.
What does ‘foundations’ mean?
An underlying hasis or principle.

. Write 2 synonyms for explore.

Travel discuss. sightsee

Year 4 Answer Pack
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Lesson 2: Geography

1. When was the Fairtrade Foundation established in the United Kingdom?
The Fairtrade Foundation was established in 1992.

2. What is an income?
An income is the money received on a regular basis for work.

3. Why is having a regular income important?
It is important so that farmers and workers can plan for the future.

4. Which is the closest definition for Fairtrade Premium?
Money to protect the environment farmers and workers live in.

5. How many farmers does the Fairtrade system support?
Fairtrade supports 1.65 million farmers.

6. How do you know if an item is Fairtrade?
To know if an item is Fairtrade, look for the Fairtrade Mark.

7. Give examples of three Fairtrade products.
Answers may include any 3 products listed.

8. There are three fact files for countries involved in Fairtrade. Which country has the highest
number of farmers involved?
Uganda, 48048 farmers involved in Fairtrade.

9. Why is it important that Fairtrade supports these farmers?
Fairtrade is important because many of these farmers depend on farming as their main
source of income.

10. Do you think Fairtrade is a good idea? Why?
Various answers possible. May include themes such as supporting people less well off,
giving a fair price.

Year 4 Answer Pack
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Lesson 3: Science

Reading for Productivity - Sound lesson 2
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Retrieval

1. What is sound referred, to?

Sound is a type of energy made by vibrations.

2. What happens to the chain reaction eventually?

This “chain reaction’ movement, called sound waves; keeps going until
Inference

3) How do you think sound would change when it travels through
different material?

When the sound waves travel through things they become quieter or
4) What three parts of the ear are describe in the process of enable the
process of hearing?

Ear drum, the hammer, arwil and stirrup bones, auditory nerve.
Vocahulary

5) Can you find a synonym for the word ‘disturhed ? Displaced, moved
6) Use a dictionary to find the meaning of the word ‘amplifying .

To increase the volume af sound.

7) Summarise the reading on ‘How we hear’ in no more than 6
sentences.

Year 4 Answer Pack
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1. Name the famous hook character. Willy Wonka

2. The author Michael Morpurgo writes books mainly ahout what?
A. Witches & Wizards
B. Science Fiction
C. Adventures set in real places
D. Comedy,

3. Which one of Rould Dahl's characters is being described here?

“She wus ahove all a most formidable female. She had once heen a
Jamous athlete and, even now the muscles were still clearly, in evidence.
You could see them in her hull neck, big shoulders, the thick arms, the
sinewy wrists and. in the powerful legs. Looking at her yow got the

djl { - m[ !gu

Miss Trunchhull - Matilda

4. What is the name of Mr Filch's cat in. Harry, Potter?

Mrs Lorris

Mrs. Morris

Mrs. Doris

O 0w p

. Mrs. Norris

5. Who wrote the following list of hooks?
‘The Island. of Adventure.’
‘Furst Term at Malory, Towers.’

Year 4 Answer Pack
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7. Which: author wrote the following hooks? Demon Dentist, Rathurger
and, Billionaire Boy. David Walliams.
8. Which famous bear lived. in Hundred Acre Wood? Winnie-the-Pooh

9. Fill in the blanks and. look at the pictwres to find the title of this.
Jamous Dr. Seus hook. The Cat in the Hat.

10. What wus the first children's hook Roald Dahl ever wrote?
James and the Giant Peach.

11. Name the author that wrote ‘How to Train Yowr Dragory. Cressida
Cowell.

12. What are the names. of the fowr children in The Lion, The Witch.
and The Wardrohe? Peter, Lucy, Edmund. and Susan.
|
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13. What is the name gf the elephant in The Firework Maker’s,
Daughter? Hamlet

14.Name the hook.
The Jolly Postman

JANET & ALLAN AHLBERG

15. Which magical character is being described? Professor Snape
His eyes were black like Hagrid's but had none gf Hagrid’'s warmth. They,
were cold and empty and made yow think of dark tunnels. He spoke in

harely more than a whisper but you caught every word. He swept

Year 4 Answer Pack



Lesson 5: Art

Reading for Productivity - Art - Giuseppe Arcimholdo
Retrieval
1. What nationality is' Arcimboldo? Italian
2. What did Arcimholdo began his career in? Stained glass window

'n PONTEFRACT o

3. Why do yow think Arcimholdo’s portraits were so popular? Any
acceptable answer.

Vocahulary

4. What do yow think the word, ‘allegorical’ means? Constituting or
5. Write a synonym for the word rediscover. Recoup, repair, regain,
retrieve, resume, get back

Year 4 Answer Pack
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